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QUESTION 1

You are designing a solution for a customer who wants to optimize network performance for their iISCSI environment of
20 Microsoft SQL servers on their Hitachi NAS Platform. Which three actions do you suggest to the customer? (Choose
three.)

A. Create a private VLAN between the Microsoft SQL server and the Hitachi NAS Platform.

B. Create a LAG on the Hitachi NAS platform using all available interfaces.

C. Use the latest open source iSCSI initiator in the Microsoft SQL server.

D. Use the spanning tree protocol.

E. Add multiple network interfaces to their Microsoft SQL server and use MPIO.

Correct Answer: ABE

QUESTION 2

To increase resilience and maintain performance a customer wants to upgrade their Hitachi NAS Platform
two-node cluster to a three-node cluster.

What are two prerequisites? (Choose two.)

A. An additional cluster license is needed.

B. A NVRAM upgrade for mirroring must be performed.

C. 10 GbE switches are required for the cluster interconnect.

D. The 10 GbE cluster interconnect media must be single mode fiber.

Correct Answer: AC

QUESTION 3

A customer is using CVL on their Hitachi NAS platform. When a migrated file is accessed, how does a tier of storage
serve a file to a client?

A. Only the portion of the file requested by the client is recalled from the primary tier of storage
B. The entire file requested by the client is recalled to the primary tier of storage.

C. The file requested by the client is read directly from the second tier of storage.
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D. The file requested by the client is recalled from the snapshot area of the file system.

Correct Answer: C

QUESTION 4

A customer recently purchased a Hitachi NAS Platform 4000 and a Hitachi HUS 130 for back-end storage.
They are concerned about back-end performance.

What are two best practices? (Choose two.)

A. Do not share storage ports with another other host.

B. Do notmixSAS 10K and SAS 7.2K in the same untiered storage pool.

C. Do not exceed 8 SAS 7.2K LUNS per FC port.

D. Do not use FC Loop mode.

Correct Answer:. AB

QUESTION 5

Which document must be completed in the pre-sales cycle before scheduling professional services resources for a
customer installation?

A. Site Implementation Guide
B. Systems Readiness Document
C. Pre-Engagement Checklist
D. Change Control Approval Form

Correct Answer: C
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